

(An Autonomous Institution) Coimbatore - 641 035 DEPARTMENT OF MATHEMATICS UNIT- II (STANDARD DISTRIBUTIONS) MOMENT GENERATING FUNCTIONS



Moment exerciting function (MGIF - M_X(t))

$$M_X(t) = E[e^{tX}] = \sum_{x=-\infty}^{\infty} e^{tx} p(x)$$
 if x is discrete

 $= \int_{-\infty}^{\infty} e^{tx} f(x) dx$ if x is continuous

Note:
1.
$$u_{x}' = \left[\frac{d^{r}}{dt^{r}} M_{x}(t) \right]$$
 is the rth moment from $M_{x}(t)$.

2.
$$M_{\chi}(t) = \frac{20}{5} \frac{t^{\gamma}}{\gamma!} u_{\gamma}^{\gamma}$$

3. orth moment = coefficient of
$$\frac{t^{\gamma}}{\gamma!}$$

4. If MGIF, is known, to find means variance
$$E(x) = \left[\frac{d}{dt} \, M_{2}(t)\right] = \frac{M_{1}(0)}{2}$$

$$E(x^2) = \left[\frac{d^2}{dt^2} M_{\chi}(t)\right] = M_{\chi}(0)$$

mean =
$$E(x)$$

variance = $E(x^2) - [E(x)]^2$

Scanned with CamScanner



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
UNIT- II (STANDARD DISTRIBUTIONS)
MOMENT GENERATING FUNCTIONS



J. If the maximum variable x has the maje
$$m_{\chi}(t) = \frac{3}{3-t}$$
. Find the standard Deviation of Soln.

 $m_{\chi}(t) = \frac{3}{3-t} = 3(3-t)^{-1} = \frac{3}{3-t} = 3(3-t)^{-1} = \frac{3}{3-t} = 3(3-t)^{-2}(-1)$
 $= 3(3-t)^{-2}(-1)$

Scanned with CamScanner



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
UNIT- II (STANDARD DISTRIBUTIONS)
MOMENT GENERATING FUNCTIONS



A Handom variable x has the PDF is given Find moment generation function. Soln. $M_{\chi}(t) = \int_{-\infty}^{\infty} e^{tx} f(x) dx$ = setz ae ax dx = 2 f e +x-2x dx $= 2 \left[\frac{e^{-(2-t)x}}{-(2-t)} \right]^{\infty}$ $=-\frac{2}{2-t}[e^{-\infty}-e^{0}]$ $= \frac{-2}{2-t}(0-1)$ My(t) = $\frac{2}{2-t}$ 3]. From MGIF of a landom variable x baving PDF $f(x) = \int_{0}^{1} \frac{1}{2} dx dx$ o, otherwise.

Scanned with Cams Scanned with CamScanner



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
UNIT- II (STANDARD DISTRIBUTIONS)
MOMENT GENERATING FUNCTIONS



Soln.

$$M_{x}(t) = \int e^{tx} + f(x) dx$$

$$= \int_{3}^{2} e^{tx} \int_{3}^{2} dx$$

$$= \frac{1}{3} \int_{1}^{2} e^{tx} dx$$

$$= \frac{1}{3} \int_{1}^{2$$

 $=\frac{e^{t}}{2}+\left(\frac{e^{t}}{2}\right)^{2}+\left(\frac{e^{t}}{2}\right)^{3}+\cdots$

 $= \frac{e^t}{2} \left[1 + \frac{e^t}{9} + \left(\frac{e^t}{9} \right)^2 + \dots \right]$

Scanned with CamScanner

CS Scanned with CamScanner

 $=\frac{8}{2}\left(\frac{e^{t}}{2}\right)^{2}$



(An Autonomous Institution) Coimbatore - 641 035 DEPARTMENT OF MATHEMATICS UNIT- II (STANDARD DISTRIBUTIONS) MOMENT GENERATING FUNCTIONS



$$= \frac{e^{t}}{2} \left[1 - \frac{e^{t}}{2} \right]^{-1}$$

$$= \frac{e^{t}}{2} \left[\frac{2 - e^{t}}{2} \right]^{-1}$$

$$= \frac{e^{t}}{2} \left[\frac{2 - e^{t}}{2 - e^{t}} \right]$$

$$= \frac{e^{t}}{2} \left[\frac{2 - e^{t}}{2 - e^{t}} \right]$$

$$M_{\chi}(t) = \frac{e^{t}}{2 - e^{t}}$$

mean:
$$E[x] = \left[\frac{d}{dt} M_x(t)\right]_{t=0}$$

$$= \left[\frac{d}{dt} \left(\frac{e^t}{2-e^t}\right)\right]_{t=0}$$

$$= \left[\frac{a-e^t}{2} e^t - e^t \left(-e^{-t}\right)\right]_{t=0}^{t} \left(\frac{a}{v}\right) = \frac{vu-uv}{v^2}$$

$$= \left[\frac{ae^t-e^{2t}+e^{2t}}{(a-e^t)^2}\right]_{t=0}$$

$$= \left[\frac{ae^t}{(a-e^t)^2}\right]_{t=0}$$

$$= \frac{ae^t}{(a-e^t)^2}$$

Scanned with CamScanner



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
UNIT- II (STANDARD DISTRIBUTIONS)
MOMENT GENERATING FUNCTIONS



Vosition a:
Vosition (x) = E[x²] - (E[x])²

$$E[x^{2}] = \begin{bmatrix} \frac{d^{2}}{dt^{2}} & N_{x}(t) \\ \frac{d}{dt} & N_{x}(t) \end{bmatrix}$$

$$= \begin{bmatrix} \frac{d}{dt} & \begin{bmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{bmatrix} \end{bmatrix}$$

$$= \begin{bmatrix} \frac{d}{dt} & \begin{bmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{bmatrix} \end{bmatrix}$$

$$= \begin{bmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{bmatrix}$$

$$= \begin{bmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{bmatrix} + 4 \begin{pmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{pmatrix}$$

$$= \frac{a}{2} \begin{pmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{pmatrix} + 4 \begin{pmatrix} \frac{a}{2} & 0^{t} \\ \frac{a}{2} & 0^{t} \end{pmatrix}$$

$$= \frac{a}{2} + 4$$

Scanned with CamScanner



(An Autonomous Institution) Coimbatore - 641 035 DEPARTMENT OF MATHEMATICS UNIT- II (STANDARD DISTRIBUTIONS) MOMENT GENERATING FUNCTIONS



Ffred MGIF of the landom Variable x=1,2,... whose purbability $P(x=\infty)=q^{\chi-1}p_{\chi}$ find its mean & variance. $\chi=1,2,...$ $M_{x}(t) = \frac{\infty}{5} e^{tx} P(x)$ $= \frac{9}{2} e^{\pm x} q^{x} q^{y} P$ $= \frac{P}{q} = \frac{9}{4} (9e^{\pm})^{x}$ $= \frac{P}{q} = \frac{9}{4} (9e^{\pm})^{x}$ $= \underbrace{\overset{\circ}{z}}_{z=1} e^{\pm x} q^{x-1} P$ = $\frac{P}{9} \left[qe^{t} + (qe^{t})^{2} + (qe^{t})^{3} + \cdots \right]$ $= \frac{P}{q} q e^{\pm} \left[1 + q e^{\pm} + (q e^{\pm})^{2} + \frac{1}{2} \cdot \frac{1}{2} \right]$ $= P e^{\pm} \left[1 - q e^{\pm} \right]$ $M_{\chi}(t) = \frac{Pe^{\pm}}{10^{-4}}$ $\frac{d}{dt} m_{\chi}(t) = \frac{(1-9e^{t}) Pe^{t} - Pe^{t} (-9e^{t})}{(1-9e^{t})^{2}}$

Scanned with CamScanner



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
UNIT- II (STANDARD DISTRIBUTIONS)
MOMENT GENERATING FUNCTIONS



$$\frac{Pe^{t}-Pae^{at}+Pae^{at}}{(1-qe^{t})^{2}}$$

$$\frac{d}{dt} m_{x}(t) = \frac{Pe^{t}}{(1-qe^{t})^{2}}$$

$$\vdots E(x) = \left[\frac{d}{dt} m_{x}(t)\right]$$

$$= \frac{P}{(-q)^{2}}$$

$$= \frac{P}{P^{2}}$$

$$\vdots P+q=1$$

$$P=1-q$$

$$E(x) = \frac{1}{P}$$

Scanned with CamScanner



(An Autonomous Institution)
Coimbatore – 641 035
DEPARTMENT OF MATHEMATICS
UNIT- II (STANDARD DISTRIBUTIONS)
MOMENT GENERATING FUNCTIONS



Variance:

$$Var(x) = E(x^{2}) - [E(x)]^{2}$$
 $\frac{d^{2}}{dt^{2}} m_{x}(t) = \frac{(1-9e^{t})^{2} Pe^{t} - Pe^{t}}{(1-9e^{t})^{4}}$
 $E(x^{2}) = \left[\frac{d^{2}}{dt^{2}} m_{x}(t)\right]$
 $t=0$
 $= \frac{(1-0)^{2} P - Px 2(1-9)(-9)}{(1-9)^{4}}$
 $= \frac{P^{2} P + 2P^{2} q}{P^{4}}$
 $P+q=1$
 $P=1-q$
 $= \frac{P^{3} + 2P^{2} q}{P^{4}}$
 $E(x^{2}) = \frac{P+2q}{P^{2}}$
 $\therefore Vor(x) = \frac{P+2q}{P^{2}} - \left(\frac{1}{P}\right)^{2}$
 $= \frac{P+2q-1}{P^{2}}$
 $\therefore P+q=1$
 $= \frac{2q-q}{P^{2}}$
 $\therefore P+q=1$
 $\Rightarrow P+q=1$

